NVB-3025JB - user’s manual ver. 1.0
NVB-3025JB instrukcja obstugi wer. 1.0

6. External dimensions (in millimeters) / Wymiary zewnetrzne (w milimetrach)

64 -
| x
64 3109
A \
J
Bottom view
Widok od spodu
Side hole Base Cover

Otwor boczny Podstawa Pokrywa

Top view
Widok z gory

AAT Holding S.A., ul. Putawska 431, 02-801 Warszawa, Polska
tel.: 22 546 07 00, faks: 22 546 07 59
WWW.novuscctv.com

2016-12-05 MM TF



NoVus
NVB-3025JB

NVB-3025JB - user’s manual ver. 1.0
1. Introduction
Wall/ceiling internal/external mount bracket NVB-3025JB is designed for IP camera series 3000.

A complete list of compatible cameras is available in the product data sheet on
http://www.novuscctv.com/en.

2. Package contents

. Wall / ceiling mount bracket 1 pc

. Mounting screws/sleeves 1 set

. Camera mounting screws 1 set

. Mounting template 1 pc

. Foam gasket 1 pc

3. Technical specification
Bracket type Wall/ceiling mount bracket, internal/external
Material Aluminium
Colour White
Load capacity 10 kg
Dimensions Detailed dimensions showed on diagram
Weight 0,35 kg

4. Installation manual

1. Pick a suitable location and provide all necessary wiring in desired bracket mounting place.

2. Mark 4 mounting holes and drill them in selected locations (optionally use mounting template).
3. Stick foam gasket to back side of bracket (base).

4. Plug unused holes with attached end caps and if required, please seal it with appropriate sealing
mass.

5. Put all cables through one of available holes and screw the bracket to the wall. It is recommended
to mount bracket so label “UP” is directed upwardly.

6. Connect cables to the camera.

7. Screw the camera to the adapter using the appropriate screw and holes, according to the table

on the other page.

Notice: Method of mounting camera (to base or cover) depends on the camera model. Details about
location of installation are given in table on the other page.

All rights reserved © AAT Holding S.A.




NoVus
NVB-3025JB

NVB-3025JB instrukcja obstugi wer. 1.0
1. Charakterystyka produktu
Adapter $cienny/sufitowy wewnetrzny/zewngtrzny, wykonany z aluminium pokrytego powloka
proszkowa w kolorze biatym, przeznaczony do kamer IP serii 3000. Petna lista kamer

kompatybilnych z adapterem NVB-3025JB dostepna jest w karcie produktu na stronie
http.://www.novuscctv.com/pl

2. Zawarto$¢ zestawu

. Adapter $cienny/sufitowy 1 szt.
. Wkrety/kotki montazowe adaptera 1 kpl.
. Wkrety do montazu kamery 1 kpl.
. Szablon montazowy 1 szt.
. Uszczelka piankowa 1 szt.

3. Dane techniczne

Typ Adapter $cienny/sufitowy, wewngtrzny/zewnetrzny
Materiat Aluminium

Kolor Bialy

Nos$nos¢ 10 kg

Wymiary Szczegdlowe wymiary na rysunkach

Masa 0,35 kg

4. Instrukcja montazu

1. Wybra¢ odpowiednig lokalizacje 1 doprowadzi¢ wszystkie niezbedne przewody do przysztego
podlaczenia kamery.

2. Oznaczy¢ miejsce montazu, a nastepnie zaznaczy¢ 1 wywierci¢ 4 otwory pod §ruby montazowe
(mozna skorzysta¢ z szablonu montazowego dofaczanego do uchwytu).

3. Naklei¢ na podstawie uchwytu uszczelke piankowa.

4. Zaslepi¢ nieuzywane otwory zaslepkami z wyposazenia 1 w razie potrzeby uszczelni¢ dodatkowo
masg uszczelniajaca.

5. Przeprowadzi¢ przewody przez jeden z dostepnych otwordw 1 przykreci¢ adapter do $ciany tak,
by znacznik ,,UP” byt skierowany do gory.

6. Podiaczy¢ przewody do kamery.

7. Przykreci¢ kamere do adaptera wykorzystujac odpowiednie $ruby i1 otwory, zgodnie z tabela
na jednej z kolejnych stron.

Uwaga: Sposdb mocowania kamery (do podstawy lub pokrywy) zalezy od jej modelu. Szczegdty
dotyczace miejsca montazu zamieszczone sg w tabeli na jednej z kolejnych stron.

Wszelkie prawa zastrzezone © AAT Holding S.A.




NVB-3025JB - user’s manual ver. 1.0
NVB-3025JB instrukcja obstugi wer. 1.0

5. Summary of installing the camera and selection of appropriate screws
Zestawienie miejsc montazu kamery i dobor odpowiednich srub

Model of camera Location Screws type
Model kamery Miejsce montazu Typ $rub

NVIP-4DN3512H/IR-1P
NVIP-3DN7540H/IRH-2P
NVIP-xDN3030H/IR-1P
NVIP-xDN3031H/IR-1P
NVIP-xDN3000H/IR-1P
NVIP-4DN3060H/IR-1P Cover / Pokrywa M4x11
NVIP-4DN3061H/IR-1P
NVIP-3DN3050H/IR-1P
NVIP-2DN7460H/IR-2P
NVIP-8DN7560H/IR-2P
NVIP-4DN3511H/IR-1P

NVIP-5DN3512H/IR-1P *
NVIP-1DN3040H/IR-1P * Base / Podstawa M4x16*
NVIP-4DN3513H/IR-1P *

NVIP-xDN3031V/IR-1P
NVIP-4DN3513V/IR-1P Base / Podstawa M4x22
NVIP-4DN3061V/IR-1P

NVIP-xDN3033V/IR-1P Cover / Pokrywa M4x9

*For mounting a camera, use screws from cover.
*Do przykrecenia kamery nalezy uzy¢ $§rub mocujacych pokrywe



